
user
Sticky Note
Begin with governing law.  The governing law is UCC because dealing with goods (cooler) and merchants.  Once figure out the governing law, use the same law (UCC) throughout entire answer.


user
Sticky Note
Define good, and prove with the facts it is a good; indicate the cooler is movable tangible property.  What you are doing here is the governing law.  Should have a heading on Governing Law to signal what you are doing.

user
Sticky Note
Define merchant, and show Marta falls under the definition because she regularly deals with coolers.

user
Sticky Note
Good you catch this detail in the facts on Don.

user
Sticky Note
Missing element:  no defenses to formation.

user
Sticky Note
Good job in seeing valid contract given in facts, and not wasting time to prove formation elements.



user
Sticky Note
Formation defenses are part of the valid contract analysis.  

user
Sticky Note
Good you see this, but could have saved time since the valid contract issue already covers the statute of frauds.

user
Sticky Note
These rules appear correct.

user
Sticky Note
Make headings for legal issues.



user
Sticky Note
Good job here in showing no anticipatory repudiation by Don; applies the rules and shows understanding.

user
Sticky Note
Explain there is a 30 days deadline to respond according to UCC:  A non-breaching party may request adequate assurances of performance, and treat the failure to assure within 30 days as a breach by anticipatory repudiation.  Under the UCC, a request for adequate assurances of performance must be in writing.  Until assurances are given, the requesting party may suspend performance.


user
Sticky Note
Good job here, but put all the rules at top; use IRAC format.

user
Sticky Note
There is an issue on impossibility triggered by the facts on Don saying he will see what was possible.



user
Sticky Note
You do not have to use up time with these arguments for Don.  This is not applying the rules.  Simply indicate that he did not respond within the 30 days deadline under UCC so there is anticipatory repudiation.

user
Sticky Note
This is the correct conclusion.

user
Sticky Note
She was allowed to treat Don's response as anticipatory repudiation.  It was not a breach because the time to perform did not arrive yet.  Explain she did not have to accept his delivery on April 16 because the delivery missed the deadline so the perfect tender rule was not met.

user
Sticky Note
Issue on perfect tender rule triggered with April 16 facts:  The UCC requires perfect tender.  If the goods or the tender of delivery fail in any respect to conform to the contract, the buyer may:  (1) reject the whole, (2) accept the whole, or (3) accept any commercial unit or units and reject the rest.  


user
Sticky Note
Use a heading and give rules on mitigation.

user
Sticky Note
Explain Marta was allowed to reject the cooler based on the perfect tender rule.



user
Sticky Note
The elements:  certain, causal, foreseeable, unavoidable.

user
Sticky Note
Discuss mitigation and incidental damages under separate headings.

user
Sticky Note
There should be a separate heading for incidental damages; missing rules.  Good you knew the $2000 was for incidental damages.

user
Sticky Note
Explain she had no expectation damages.

user
Sticky Note
These opposing arguments are not necessary and wasted time.  Just apply the rules to the facts.  

user
Sticky Note
Missing rules on consequential damages, which these facts are meant for.

user
Sticky Note
Score:  60
Issues:  Missed at least 2 issues.  Overall, it seems you knew what was going on in the facts.
Rules:  Incomplete for some issues.  It seems you see the issues.  For some issues you mention while you are writing about other issues, but do not make turn them into official issues with headings and IRAC.  For example, you mention mitigation at least twice, but do not have a heading on mitigation, give rules, etc.  
Analysis: There is a lot time wasted with opposing arguments that have nothing to do with applying the rules.
Organization:  Improve on IRAC.






